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UNIT—I
1. (@) 22 <fRgE5e R 2 affh ki @
4FS 17 1
How will you prepare ethyl acetoacetate
from ethyl acetate?
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() o fIER @@ oFe IRA (R @
%) ? 1%4x2=3

How will you prepare the following
(any two)?

i) i kD’ 9fZHET Rl TR ot
Succinic acid from ethyl aceto-
acetate

(i) SIRYT CETEB o[ W’ﬁ%ﬁm
IR Jftw

Cyclobutane carboxylic acid from
diethyl malonate

(i) 2w P ofgboT /1 F5 e oftw

Crotonic acid from ethyl aceto-
acetate

UNIT—II

2. (@) JIRHRPFR A IRORT ot @AlE ome
317 B R SROCD, TR ewEd
oF BN GRS e Rfw R B
3317 1+1=2
How will you prepare tartaric acid
from acetylene? What happens when

potassium sodium tartrate reacts with
copper sulphate and sodium hydroxide?
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(3)

() & <, @fem (R @ abn—

What happens, when (any one)—

) REe o JWEA AR T
fRaifke =;

citric acid is reduced with hydrogen
iodide; '
(i) AfF ofw LRI 9TEm 9% 2Ram

P [ Refs =2

phthalic acid is reduced with
sodium amalgam and sodium
-carbonate solution?

(¢ R R Rieres wdEr G

(R e o) - 1x2=2

Write the product of the following
reactions (any two) :

. H H
] %= + Br, SCh4 5

- HOOC \COOH

cold alk.

i) CH,= +
(ii) 2 CH—-COOH H,0 W?
CHO ‘O
(iii) + CcHycHO —X29H 5
{ Turn Over )
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UNIT—III

3. oo fuaRs ¥=1 forn
Answer the following :

(@) T oFS FRA1? ) 1Yax2=3
How will you prepare? ‘
(i) p-gerer RfeaR @1 gy
~ Anthracene by Diels-Alder reaction

(i) Refbal Ko w e
Naphthalene by Fittig synthesis
(b) T i RRFIR =4 F1 (R cen )
1x2=2

Coxﬁplete the following reactions
(any two) :

. CH,COONO |
b ) 20
O
CHa
(i1) + conc. HNQ, -SOnc. HyS0O, .
230°C 7
(iii) © © NaNOz/ HCl

SO3H
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(c) mwﬁw(ﬁmaﬁ): 2
Explain why (any one) :
(i) AR C-28 g fmem Ridr
sEfoe =

Furan undergoes electrophilic
substitution reaction at C-2

(i) “iEa'a Pfiferste 31w

Pyrrole is weaker base than
pyridines

WYql / OR

4. (a) mﬁﬂmﬁmw (ﬁ@mi‘m)?

1%x2=3
How will you obtain the following
(any two)?
(i) =R’ [ PR

7

Pyridine from pyrrole . |
(i) TA-A'T TKERTR T R
Furan by Paal-Knorr synthesis

(i) p-TRY B R m-AG B

m-nitrotoluene from p-nitrotoluene

1
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(b)

()

oyl

(6)

& 2’3, afem— 1+1=2
What happens when— '
fij 733 K-753 K'S V,053 TRl Go{aIfee
wike z;
naphthalene is oxidized with V,04
at 733 K-753 K;

(i) Ni SR6Fq 2@ PR ReiRs =9
pyridine is reduced with Ni catalyst?
I 70 (R coem @Bt) ;0 2

Explain why (any one) :
) TR aREem RiFme s
Rtamels wfis e

Pyrrole is more reactive than furan
in electrophilic substitution reaction

(i) AT AT W g

Pyrrole shows aromatic character

UNIT—IV

5. f(a) Wﬁmﬁmm(ﬁmiﬁ)v 1x2=2

How will you obtam the following
(any two)?

(i) ETEMITA [ e iRy

Cinnamic acid from benzaldehyde
(ij) RARFR Rl (&

- Behzophenone from benzene

L (i) AR AL RRSERRS

P9/67S

Benzaldehyde from benzene
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(b) R RRFER = T (R @ fole)
1x3=3

Complete the following reactions
" (any three) : ')

(l) H4yC—C—CH; + Ph3P=CHCchH3 —_>7?

(0]
Ha
{ii) H20=HC—G—E—CH3 + NHy—NH, __—->K°“ 5

(iii) @ + R—C—Cl M—)

(iv) 2Me3CCHO on 55

] e IR R @ qor B fora 2

Answer any one of the following :

() VR dfirels 7RG ot R
QR =f3F, T FA0!
Explain, why chloroacetic acid is
stronger - acid than- bromoacetic
acid.

(ii) w&m gorrer Rfeem R orEm 2
Why formaldehyde does not
undergo  aldol  condensation
reaction? '
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(@) & 23, afem (R e o) — 1
" What happens, when (any one)—
() TR @i TRee Qe
fEr Refe =; )
benzoic acid is reduced with lithium
aluminium hydride; )

@) T8 FFTR TR ot g
'R e Ridrr w39

acetic acid reacts with chlorine in
presence of red phosphorus?

. UNIT—V

6. (o) T AT R @A G5 T forey 2x2=4
Answer any two of the following .
() SO aRE oRw R o TR s
AN 10

What are the essential amin,

Ve e . 0 acids?
'Explain with examples,

(i) RNA WIF DNAT W&o e figy |
Distinguish.between RNA ang DNA.
(i) FEBREGT &/ b1 55 R oy |
‘Write a short note on mutarotatiop

P9/675 ( Continyeq )
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(b) =TS faa] R i, @b Tex vy 1

Answer any one of the following :
() SIS o' o1 e o |
Give an exami)le of fibrous protein.
(i) fFRR TR T D-F [@ P&
o S |
Draw the opén chain structure of
D-glucose in Fischer projection.

i UNIT—VI

.....

7. (@) w—ﬁumﬁmaﬁﬁ‘@mm 2

‘Answer any one Yof the following :

() Ve AR e, aﬁrq
o o o

Write a short note on condensation
polymerization.

(i) TI-SRE R? TR FAT a5 39
EUN
What is buna-S-rubber? How is it
prepared?

() TEF-63 AFRIW WA TS Il
TATRCBT o7 o 1
Write the monomer necessary for the
preparation of Nylon-6.
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( Old Course )

Full Marks 32
Pass Marks : 13

Time : 2 hours

UNIT—I

1. (@) RY-T= WIRRm % @ra? Srmem

IO T 2

What do you mean by keto-enol
tautomerism? Explain with example.

(b) Wﬁwmﬁﬁm(ﬁm@):

P9/675

1%2x2=3

How will you obtam the following
(any two)?

() 2R ¥R o RS R o
Butanoic acid from ethyl aceto-
acetate

(i) SRRIE O o1 R ;qf%w
Adipic acid from diethyl malonate
(it}) 2R fRS fReBBT o ooy

Propanone from ethyl acetoacetate

( Continyeq )
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UNIT—II

2. (a) TS ORI FCEd o o (@ e
) : 7» 1
Write the synthesis of the following
(any one} :
() 2R o o/ e dRa
Lactic acid from propanoic acid
(i) FH AR o TR o

Crotonic acid from crotonaldehyde

) &6, afm (R @ 9bi)— 1
What happens, when (any one}—
i) e afSes TR T W Teg
REURTH

phthalic acid is heated at its melting
point;

(ii) HI?Z’I’CGW oftr Teg U W
citric acid is heated Wlth HI?

(c) waq RIFIER vwfw (R @m W) 1x2=2
Complete the following reactions
(any twoj :

{ii H3C—CH=CH—CHO _LiAH, ?

it CH =CH—COOH + cold alk.

(ti) 2= Hy0 W?
HC—COOH 400 °C

i) |l —=>?
HC—COOH

po/675 - { Turn Over )
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UNIT—III

3. (a), (b) == (c) 7 (d), (e) &= ()T ToI ey
Answer either (a), (b) and (c) or (d), {e) and ()

(@) TS AR @E oM (R GG 961) 2
1%x2=3
How will you obtain the followmg
(any two)?

() -] ACHRR 4 B
Furan by Paal-Knorr synthesis
(i} mafife o @ e
- Saccharin from anthranilic acid

(i) =R, TRCR TS o]
Anthracene by Haworth’s synthesis

() &R RRATAR o] 1 (R G go1) = 1x22

Complete the following reactions
(any-tivo) :

(i) + Hy80, °—> ?

O ol

_v‘(ll) O + CH3CH2CH2CH2Li e

(iii) © ‘+ conc. H2SO4 180 °C

P9/675 ( Continued )
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(c) e fErad R @A @Bt 4 <40 2
Explain any one of the following :
(i) REIR C-2% LeigreaR aifozrem Rferm
SEfbe =

Furan undergoes electrophilic
substitution reaction at C-2

(i) *ia PR 7 wRdN
Pyrrole is weaker base than
pyridines .-

(d) TS MAER FAF IR ? 1%x2=3
" ‘How will you obtain the following?

(i) n-RSGTR =/ A

~ Thiophene from n-butane

(i) AL CER R AR

 Naphthalene  from  Haworth’s
synthesis

fe) e HRARRT & G <O I 390 : 2
Explain any one of the following :
(i) RE DS W ORE
Pyrrole shows aromatic behaviour

(i) ‘g dfemem  RiFre <A
Roeore Sfts fea ‘

.. Pyrrole is more reactive than furan
in electrophmhc substitution reaction

po/675 " : { Turn Over )
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( 14 )

What happens, when (any two)—
() TR TS M HNO,; W o[

(i)

(i)

4. (a) oS fIA R @ Hr ey B

H,S0,3 R wiorn =;
Nitrobenzene is treated with conc.
HN03 and conc, H2SO4,

ARG S Zn po WIF WA NH,C17
[ Reie w1 =;

Nitrobenzene is reduced with Zn
dust and aq. NH4Cl

TR 1A R wm, Refs w1 =2

Furan is reduced with raney nickel?

UNIT—IV

Answer any two of the following :

U

(@)

(i)

P9/675

IR AT T%fed @ @
oge IRA?

How will you synthesize alanine by
Strecker synt‘hes1s?

RNA W& DNAT WI&® e/ &4 |
Distinguish between RNA and DNA.

TRE W S-weiRzy awin’ ¢S

T B I o T R e
Tl |

What do you mean by essential and
nonessential amino acids? Give two
examples and draw their structure.

( Continued )
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(b)) e EER R @ @[ Bew forgr ¢
Answer any one of the following :
fi) cormize A 2
What is peptide bond?
(i) SR’ ofows FRERRA 7

What is zwitterion in amino acid?
UNIT—V

5. (o) oo AR R @A BR e[S 5 G
foran -
Write a short note on any one of the
following :
(i) afrcaficee™/Epimerisation
{ii) ¥R (5*F/Mutarotation

) oTe R R @ @b Te o
Answer any one of the following :
(i) D-IF'E%, D-RAEEA @R RS

FRa1? _
How will you convert D-glucose to
D-arabinose?

© (i) I8 TR SofRfee o HI wre
yo'ca R IR B w2 X Risam
o]l SR M7 T R o o I 9

What happens when glucose is

' , treated with conc. Hl in presence of
red phosphorous? What information
regarding the structure of glucose
is obtained from this reaction?

p9/675 { Turn Over )



“-\&-

{ 16 )

(c) D-3'% WF D-FI'SR "R A0 SR |
' Yatlo=1
Draw the cyclic structure of D-glucose
and D-fructose. .
A £ )
UNIT%VI ,
6. (a) TS FUIRT R @R %R &t gl : 2x0=4
Answer any two of the following :
(i) QIS ITANRR RAg @i 5 ORT
o1

Write a short ‘note on . addition
polymerization.

(i) TS B 2 W @ mww?
What is Bakelite? How is it
prepared?

(ii) LRAN-FERRT @R /7o TR
T 0TS 9 79 '

What is urea-formaldehyde resin?
How is it prepared? ’

(b) OIS HART oFeRIR WA s
TIRERI W oy 1
Name the monomers necessary for the
preparation of the following (any one) :

(i) CGRFER S%A 5/ Terylene or Dacron
(i) TN-S-I@H/Buna-S-rubber
e e e
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